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1. Determine the current I for each of the configurations of Fig. 1 using the approximate
equivalent model for the diode. (10 marks)
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2. Determine the level of V for each network of Fig. 2 (10 marks)
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3. Assuming an ideal diode, sketch v;, v; ,and ix for the half-wave rectifier of Fig. 3. The
input is a sinusoidal waveform with a frequency of 60 Hz. (10 marks)
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4. (a) Design the network of Fig. 4 to maintain ¥, at 12 V for a load variation (/; ) from
0 to 200 mA. That is, determine R, and V7, . (7 marks)

(b) Determine Pzy,, for the Zener diode of part (a) (3 marks)

Re
16 W oA ] j :’
A §m_
< -

Fig. 4



%9 s

5. Calculate the output voltages V, in the circuit of Fig. 5. (10 marks)
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6. Sketch the output waveform resulting in Fig. 6. (10 marks)

.lu¥

it
1

> 200 k(2 j
VetV o /}Mw\, e

-

Fig.6




